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A H4X B [ R AR FEEA  {fiig =
JHN 6 B5F 5kg i kg 850 EiE
JHN 1B =2F 5kg i kg 800 EiE
JHN 8E =2F 5kg i kg 700 EiE
JHN 102 B5F 5kg i kg 750 EiE
7o 24/25E alll 5kg 78 kg 850
A& 168 dtiEE 2kg 8 ke | 2,400
ERTIA 188 dbiEE 2kg & ke | 1,800
X ) WA 352 dtiEE 4kg 5= kg | 1,450
=X ) WA 38E dtiEE 4kg 5= kg | 1,200
A& 16 dtiEE 2kg & ke | 2,000
=X ) WAY:: 328 dtiEE 4kg 5= kg | 1,500
=X ) WAY:: 352 dtiEE 4kg 5= kg | 1,400
A& 382 dbiEE 4kg Ei ke | 1,100
7V 10/11kg | dtiEE 1A #a kg | 1,250 HfE FE
7V 7/8kg dbimE 1A #a kg | 1,000 HfE FE
hoA 4kg =i 1A 8 kg | 1,600 # fEF
huA 3kg =i 1A #a kg | 1,500 # fEF
Y5 25/29g | =E 1A 5= kg | 2,600 i@ AEH
VAP 3kgE =87 1A & ke | 3,500 EiE EAE
£ B 62 = %0 4/5kg i kg | 3,300 # BEH
EiR 2/3kg RS 1A 5= kg | 2,200 EiE
FH 1.5/2kg RS 1A 5= kg | 3,800 TE &~
ES<Y 3E & Skg& #a kg | 1,300 EE
MyroJ4—L 4/6 A dbiEE 5kg & kg | 2,150 | ARG EER|. H7. BE. B
=l dtiEE 5kg S kg 900
£S5 KB 100g P P 500
BT #9160 | dbiE@E {4 {4 280
HryFBE #9300¢g dbimE 1& kg | 1,800
=PA% e 40gUP 1] =] 1 kg | 2,000
H4HT 150/180g | FRI& 1 kg | 2,700
YT 200/250g Ei& 1& kg | 2,800
HHT 250/300g RI& 1l kg | 2,950
YT 300/400g FE 1l kg | 3,500
YT 400/500g FE 1& kg | 3,600
HHT 500/600g | FIE (e kg | 3,600




